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int seqsearch (int a[ ], int n, int x){

int 1;
a[n] = x;
for(i=0;i<n;it+)
if (a[i] =x)
return 1;
return -1;
b
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int bsearch( inta[ |, int x, int low, int high){
int mid ;
while(low <=high)
{
mid = (low-+high)/2;
if (x < a[mid])
high = mid-1;
else
if (x >a[mid]) low=mid+1; else return mid;
b
return -1;
b
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int bsearch (int a[ ], int x, int low, int high){
int mid;
if (low <=high){
mid = (low-+high)/2;
if (x < a[mid])
bsearch(a , x , low , mid-1);
else if (x > a[mid])
bsearch(a , x , mid+1 , high);
else return mid;
}
return -1;
b
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insert (int a] ] ,int m, int k, int x)
{
for(i=m-1;1>=k;i--)
a[it+1] = a[i];
a[k] = x;
¥
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delete(int a[ |, int n,int k, int x){
x =alk];
for (i=k;i<n;it+t+)
ali] = a[i+1];
af[i] =0;
refurn(x);
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MINIMUM(A,n)
1 min<¢ —o0
2 fori «1 to n do
3 if min > A[1] then
- min < A[i]
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void add(int a[ | [max] ,int b[ | [max], int ¢ [ ][max], int m, int n){
for( 1=0; 1<m : 1++)
for(j=0; j<n;j++)

clilp] = af1lb] + bl
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void mult(int a[ ] [max] .,int b[ ] [max], int ¢ [ |[max], int m, int p, int n){
for(i=0; 1<m ; 1++)
for(j=0; j<n;j++)
{
c1]b] =0;
for(k=0; k<p ; k++)
cliy] = cli]ib] + ala][k] *bk][] ;
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for (j=0 ; j<m; j++)
for(1=0;i<n; i++)

b[jI[i] = a[i][jl;
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